CHOOSE THE CORRECT ANSWER

1- Variable is       ( هو متغير )
a) - any characteristic of a person or an object that can be measured.

b) - any characteristic of a person that can take values.

c) - a + b

d)- None of the above

2- “assignment of numbers to objects according to a set of rules”
(حالة عدد من الكائنات وفقا لمجموعة من القواعد )
a) – Measurements

b) – calculations

c) – computing

d) - a + c

3-Accident injury (mild-sever-fatal) is measured on…………scale
 ( تقاس الحوادث إصابة (معدل عدد الوفيات) على............ النطاق )
a) -Nominal         

b)-Ordinal        

c)-Interval        

d)-ratio

4- Consider two persons with IQ score 70 and 140, we can say
( النظر في شخصين مع حاصل الذكاء 70 و 140 ، يمكننا أن نقول )
a) - the second is twice intelligent as the first person

b) - the second is more intelligent as the first person

c) - a + b                                            

d) - none of the above

5- if a variable has countable values and gaps in the values, it is
( إذا كان متغير وقابل للعد القيم والفجوات في القيم ، فمن )
a) - Discrete variable                           

c) - cut-off variable  

b) - Continuous variable                      

d) - none of the above

6- if the data values are non-overlapping, can be sorted in categories
( إذا كانت قيم البيانات غير قابلة للتداخل ، ويمكن فرزها في الفئات )
a) - Discrete data                   

b) - continuous data

c) - Categorical data              

d) - Nominal data

7-Ratio = (a/b) × 100
a) - “so many “a” per 100 units of b” 

b) - make the ratio easy to read and compare with others

c) - a + b

d) – non of the above

8-a Circle which is divided into segments each segment is proportional to the number of cases in that category
( ينقسم إلى الدائرة التي في كل جزء من أجزاء متناسبة مع عدد من الحالات في هذه الفئة )
a) - Frequency table                         

b) - Pie chart

c) - dot plot                                       
d) - Bar chart

9-“Central Tendency Measures” computed from sample called
( اتجاه مركز تيار  "المحسوبة من عينة يسمى )
a) – Parameter                                             

b) – rates

c) – Units                                                    

d) – Statistic

10-- Summarizing data by divides up the data into rectangles of base length equals range of values and area proportional to number observation
 ( تلخص البيانات عن طريق الاحتياطي لبيانات يقسم إلى مستطيلات 
من طول قاعدة تساوي مجموعة من القيم ومنطقة يتناسب مع الملاحظة رقم )
a) – Bar chart                                       

b) – Histogram

c) – Dot plot                                          

d) – pie chart

11-The square root of variance is
( الجذر التربيعي لفرق العدد ) 
a) – Variance                                           

b) – Standard deviation

c) – Arithmetic mean                              

d) – non of them

12-A Measure that reflect the frequency of death causing disease.
( وهو الإجراء الذي يعبر عن تردد المرض يسبب وفاة ) 

a) – Morbidity Measure

b) – Mortality Measure

c) – Disease rate

d) – None of The above

13-The number of persons with a disease per unit of population at a given time
( عدد الأشخاص الذين يعانون من مرض لكل وحدة من السكان في وقت معين )
a) – Disease rate 

b) – Morbidity rate

c) a + b

d) none of the above

14-- Case registries of TB and Tumour 
( السجلات حالة السل والأورام )
a) – Disease producer activities 

b) - Disease control activities

c) – Death control activities

d) – a + b

15- Morbidity records are essential to health agencies 
( السجلات لنسبة انتشار المرض ضرورية لوكالات الصحة )
a) - to control infectious or communicable diseases

b) – to control death and increase welfare

c) – to understand the rate of death 

d) – a + b

16-Morbidity data limitations
( البيانات قيود لنسبة انتشار المرض )
a) – composition of the population used

b) – under reporting by physicians

c) – lack of trained man power

d) – all of them
17- (Number of new cases of a disease / Number of persons at risk of developing the disease) x 1000 is
(عدد الحالات الجديدة لمرض / عدد الأشخاص المعرضين لخطر تطوير المرض ) × 1000
a) - prevalence rate

b) - Incidence rate 

c) – healing rate

d) – a + c
18- Sources of morbidity records
(مصادر السجلات لنسبة انتشار المرض )
a) – Newspaper death pages

b) – Disease control activities

c) – industrial and school absenteeism records

d) – b+ c

19-  P = I x D
a) – prevalence is directly proportional to incidence and duration

b) – prevalence equals incidence divided by duration

c) – a + b

d) – non of the above

20- For planning health services
( التخطيط للخدمات الصحية )

a) - prevalence rate is required only

b) – incidence rate is required only

c) – both prevalence and incidence required

d) – non of the above

21-Incidence rate isn’t feasible to measure because of
( معدل الإصابة ليست مناسبة لـ القياس بسبب )
a) – the time and expense involved

b) – the disease is insidious in onset

c) – distorted by difference in disease duration

d) – a +b

22-Section A of the Birth Certificate is
(القسم أ من شهادة الميلاد هو )
a) – Confidential                                           

b) – Open public record

c) – Dangerous                                            

d) – a + b

23-The certificates of birth, death, marriage, and divorce are called
( يطلق على شهادات الولادة والوفاة والزواج ، والطلاق )
a) – vital records                                       

b) – Essential records

c) – personal records                                 

d) – a  + b

24-The major factor that makes the disease Notifiable is
( العامل الرئيسي الذي يجعل هذا المرض هو الإبلاغ )

a) – The ability of the disease to cause death

b) – The communicability of the disease

c) – The disability and Fragility of the disease

d)  - a + b
25-………. Are Records of population enumeration
( ......... تعداد سجلات السكان )
a) – CENSUS                                                  

b) – Election tables

c) – Social Files                                               

d) – Record Sheets
26-The principal methods for enumeration the population are
( الأساليب الرئيسية لتعداد السكان هم من )
a) – defacto & dejure                                 

b) – decensus &depopu

c) – denumero & desole                                

d) – non is true

27-The census Tract contains…… persons with same socio-composition
( يتضمن التعداد المسالك ...... الأشخاص ذوي نفس التركيب الاجتماعي )
a) – 3000-6000                                                 

b) – 1000-3000

c) – 500-1000                                                   

d) – 400-500

28-In 1980 the census mail with the long questionnaire sent to
( في عام 1980 مع البريد قائمة الاستبيان طويلة أرسلت إلى )
a) – 10% of Households                                  

b) – 20% of Households
c) – 30% of Households                                 

d) – 100% of Households
29-The places with at least 2500 inhabitant called………….Places
( الأماكن مع ما لا يقل عن 2500 ساكن يدعى............. الأماكن )
a) – Urban 

b) – Rural

c) – Small                                                       

d) – Crowded
30-The information of the census is ( علم الإحصاء هو  )     

a) – Confidential                                                

b) – Open public

c) – Available to private agencies                     

d) – a + c
